[ Efficiency vs vertpos |
0.8

0.7

BT T

0.

(o))

0.5

efficiency vs vert r

0.4

0.3F+eeeemsieneeees
R R
R

............................

[y

g

Ratio

i
LY
+

0.95

T T T T T[T T T[T [TT T [TT I [T7 T

il

PRI A . T

0.9t
1072

10 0?
TP vertr (cr%)

<4

DQ
DQ
Efficiend —— B3

MKEIT_T 1base
mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter
mkFit_TT_baseline_6iter

mKkFit_TT RetrainV2_WP1_6iter

0.8

efticiency vs vert z

Ratio

[ Efficiency vs. sim PV z |

0.8

0 10 20 30
TP vert z (cm)

efticiency vs Sim. PV z

0T

P

R SIS R

............................

L0 e

P

7| SRV RO FOOR O

% .

Ratio
.
—r
J )
_"_h_' ':""' = "=

D
TTT T T

P

50 =15 -10 -5

0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


